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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according

to the detailed instructions given therein.

Candidates should limit their answers to the

questions on the given answer sheet. No

additional (B) answer sheet will be issued.

uksV :µ ;g iz'u&i= lÙkj (70) vadksa dk gS] tks nks (02) [k.Mksa

^d* rFkk ^[k* esa foHkkftr gSA izR;sd [k.M esa fn, x,

foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ

vius iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer

j[ksaA dksbZ vfrfjDr (ch) mÙkj&iqfLrdk tkjh ugha dh

tk;sxhA
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Section–A

([k.M–d)

Long Answer Type Questions

(nh?kZ mÙkjh; iz'u) 2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any two (02)

questions only.

uksV :µ [k.M ^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, mUuhl (19) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks

buesa ls dsoy nks (02) iz'uksa ds mÙkj nsus gSaA

1. Explain the difference and Interdependence between

Micro Economics and Macro Economics.

O;f"V vFkZ'kkL= vkSj lef"V vFkZ'kkL= ds chp varj ,oa ijLij

fuHkZjrk dks Li"V dhft,A

2. Explain in detail the concept of Aggregate Demand

and Aggregate Supply.

lexz ek¡x ,oa lexz iw£r dh vo/kkj.kk dks foLrkj ls le>kb,A

3. Explain the Importance and Limitations of Multiplier.

xq.kd ds egRo vkSj lhekvksa dks le>kb,A
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4. What do you understand by Macro Economic Policy ?

Explain its Objectives.

lef"V vk£Fkd uhfr ls vki D;k le>rs gSa \ blds mís'; Li"V

dhft,A

5. Explain the significance of Fiscal Policy in Under-

developed countries.

vYifodflr ns'kksa esa jktdks"kh; uhfr ds egRo dks Li"V

dhft,A

Section–B

([k.M–[k)

Short Answer Type Questions

(y?kq mÙkjh; iz'u) 4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer

type questions of Eight (08) marks each. Learners

are required to answer any four (04) questions

only.

uksV :µ [k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, vkB (08) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks buesa

ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSaA
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1. What do you understand by Macro Economic Model ?

lef"V vk£Fkd izfreku ls vki D;k le>rs gSa \

2. Explain the importance and difficulties in measuring of

National Income.

jk"Vªh; vk; ekius ds egRo ,oa dfBukb;ksa dks le>kb,A

3. Explain Keynesian Theory of Income and Employment.

vk; vkSj jkstxkj dh dhusfl;u fl¼kUr dh O;k[;k dhft,A

4. Explain the determinants of Propensity to Consume.

miHkksx izo`fÙk ds fu/kkZjdksa dh O;k[;k dhft,A

5. Explain the difference between Multiplier and

Accelerator.

xq.kd vkSj Rojd ds chp varj Li"V dhft,A

6. Differentiate between Autonomous Investment and

Induced Investment.

Lok;Ùk fuos'k vkSj izsfjr fuos'k ds chp varj crkb,A

7. Write a short note on Marginal Efficiency of Capital.

iwath dh lhekar mRikndrk ij ,d laf{kir fVIi.kh fyf[k,A

8. Compare Classical and Keynesian Theory of

Employment

jkstxkj ds izfrf"Br ,oa dhusfl;u fl¼kUr dh rqyuk dhft,A

**************


